Rz d AT qply 35 Fl28 28 5254 EEERE

%5 113#37 11p 2113#3" 15P

LI | RN AR FLB%
F OR-|R- | R-FR-"|R-° RS | ASF RS (R (W22 (R (R="|3-°[3-2[R-F(R-°"(R-2[R-pF|R=°(F=2[F=7
A

B3R T79.0 83.0 80.0 83.0 78.0 87.0 78.0 81.0 85.0 86.0 81.0 77.0 82.5 81.3 82.5 90.0 87.5 87.5 85.0 87.5 88.8
f%}% (40%)

(50%) [ g 2+
#+=c| 80.0| 80.0  80.0 | 80.0 | 80.0 ( 80.0 | 80.0 | 80.0 ( 80.0 | 80.0 | 80.0 [ 80.0} 80.0 | 80.0 [ 80.0 | 80.0 | 80.0 [ 80.0 | 80.0 [ 80.3 | 80.0
(10%)

[RL$5
s~ [ 80.0 | 82.0 | 80.0 | 83.0 [ 76.0 [ 86.0 [ 80.0 | 80.0 | 8.0 | 87.0 ( 79.0 [ 77.0 1 80.0 | 80.0 | 80.0 [ 83.8 [ 80.4 | 83.8 | 80.3 | 80.2 | 88.8

459 [ 4o
A 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0 80.0

Fulde | a4
do & do & 81.0 | 80.0 | 80.0 ( 77.0 | 76.0 | 80.0 [ 76.0 | 80.0 [ 82.0 [ 80.0 | 79.0 | 76.0 ff 75.0 | 75.0 | 76.0 [ 75.0 | 80.0 [ 79.0 | 75.0 | 75.0 [ 75.0
(5%) (5%)

KA 9.7 81.7( 80.0 | 81.8 | 78.0 | 84.3 | 79.0 | 80.4 | 83.4 | 84.2 | 80.1 ( 77.9] 80.8 [ 80.3 | 80.8 [ 84.7 | 8.1 83.9 | 81.8 [ 82.8 | 85.4




